
  =    + .  + .  + dt<min + TG<min + TG>max + T . .
      =          +         +        +         +        +        +   408.00 408.00 0.00 0.00 0.00 0.00 0.00 0.00



  =    + .  + .  + dt<min + TG<min + TG>max + T . .
      =          +         +        +         +        +        +   408.00 408.00 0.00 0.00 0.00 0.00 0.00 0.00



  =    + .  + .  + dt<min + TG<min + TG>max + T . .
      =          +         +        +         +        +        +   408.00 408.00 0.00 0.00 0.00 0.00 0.00 0.00



  =    + .  + .  + dt<min + TG<min + TG>max + T . .
      =          +         +        +         +        +        +   408.00 408.00 0.00 0.00 0.00 0.00 0.00 0.00



  =    + .  + .  + dt<min + TG<min + TG>max + T . .
      =          +         +        +         +        +        +   408.00 408.00 0.00 0.00 0.00 0.00 0.00 0.00



  =    + .  + .  + dt<min + TG<min + TG>max + T . .
      =          +         +        +         +        +        +   408.00 408.00 0.00 0.00 0.00 0.00 0.00 0.00



  =    + .  + .  + dt<min + TG<min + TG>max + T . .
      =          +         +        +         +        +        +   408.00 408.00 0.00 0.00 0.00 0.00 0.00 0.00



  =    + .  + .  + dt<min + TG<min + TG>max + T . .
      =          +         +        +         +        +        +   408.00 408.00 0.00 0.00 0.00 0.00 0.00 0.00



  =    + .  + .  + dt<min + TG<min + TG>max + T . .
      =          +         +        +         +        +        +   408.00 408.00 0.00 0.00 0.00 0.00 0.00 0.00



  =    + .  + .  + dt<min + TG<min + TG>max + T . .
      =          +         +        +         +        +        +   408.00 408.00 0.00 0.00 0.00 0.00 0.00 0.00



  =    + .  + .  + dt<min + TG<min + TG>max + T . .
      =          +         +        +         +        +        +   408.00 408.00 0.00 0.00 0.00 0.00 0.00 0.00



  =    + .  + .  + dt<min + TG<min + TG>max + T . .
      =          +         +        +         +        +        +   408.00 408.00 0.00 0.00 0.00 0.00 0.00 0.00



  =    + .  + .  + dt<min + TG<min + TG>max + T . .
      =          +         +        +         +        +        +   408.00 408.00 0.00 0.00 0.00 0.00 0.00 0.00



  =    + .  + .  + dt<min + TG<min + TG>max + T . .
      =          +         +        +         +        +        +   408.00 408.00 0.00 0.00 0.00 0.00 0.00 0.00



  =    + .  + .  + dt<min + TG<min + TG>max + T . .
      =          +         +        +         +        +        +   408.00 408.00 0.00 0.00 0.00 0.00 0.00 0.00



  =    + .  + .  + dt<min + TG<min + TG>max + T . .
      =          +         +        +         +        +        +   408.00 408.00 0.00 0.00 0.00 0.00 0.00 0.00



  =    + .  + .  + dt<min + TG<min + TG>max + T . .
      =          +         +        +         +        +        +   408.00 408.00 0.00 0.00 0.00 0.00 0.00 0.00



  =    + .  + .  + dt<min + TG<min + TG>max + T . .
      =          +         +        +         +        +        +   408.00 408.00 0.00 0.00 0.00 0.00 0.00 0.00



  =    + .  + .  + dt<min + TG<min + TG>max + T . .
      =          +         +        +         +        +        +   408.00 408.00 0.00 0.00 0.00 0.00 0.00 0.00



  =    + .  + .  + dt<min + TG<min + TG>max + T . .
      =          +         +        +         +        +        +   408.00 408.00 0.00 0.00 0.00 0.00 0.00 0.00



  =    + .  + .  + dt<min + TG<min + TG>max + T . .
      =          +         +        +         +        +        +   408.00 408.00 0.00 0.00 0.00 0.00 0.00 0.00



  =    + .  + .  + dt<min + TG<min + TG>max + T . .
      =          +         +        +         +        +        +   408.00 408.00 0.00 0.00 0.00 0.00 0.00 0.00



  =    + .  + .  + dt<min + TG<min + TG>max + T . .
      =          +         +        +         +        +        +   408.00 408.00 0.00 0.00 0.00 0.00 0.00 0.00



  =    + .  + .  + dt<min + TG<min + TG>max + T . .
      =          +         +        +         +        +        +   408.00 408.00 0.00 0.00 0.00 0.00 0.00 0.00



  =    + .  + .  + dt<min + TG<min + TG>max + T . .
      =          +         +        +         +        +        +   408.00 408.00 0.00 0.00 0.00 0.00 0.00 0.00



  =    + .  + .  + dt<min + TG<min + TG>max + T . .
      =          +         +        +         +        +        +   408.00 408.00 0.00 0.00 0.00 0.00 0.00 0.00



  =    + .  + .  + dt<min + TG<min + TG>max + T . .
      =          +         +        +         +        +        +   408.00 408.00 0.00 0.00 0.00 0.00 0.00 0.00



  =    + .  + .  + dt<min + TG<min + TG>max + T . .
      =          +         +        +         +        +        +   408.00 408.00 0.00 0.00 0.00 0.00 0.00 0.00



  =    + .  + .  + dt<min + TG<min + TG>max + T . .
      =          +         +        +         +        +        +   408.00 408.00 0.00 0.00 0.00 0.00 0.00 0.00



  =    + .  + .  + dt<min + TG<min + TG>max + T . .
      =          +         +        +         +        +        +   408.00 408.00 0.00 0.00 0.00 0.00 0.00 0.00



  =    + .  + .  + dt<min + TG<min + TG>max + T . .
      =          +         +        +         +        +        +   408.00 408.00 0.00 0.00 0.00 0.00 0.00 0.00



  =    + .  + .  + dt<min + TG<min + TG>max + T . .
      =          +         +        +         +        +        +   408.00 408.00 0.00 0.00 0.00 0.00 0.00 0.00



E    

  =    + .  + .  + dt<min + TG<min + TG>max + T . .
      =          +         +        +         +        +        +   408.00 407.81 0.00 0.19 0.00 0.00 0.00 0.00



  =    + .  + .  + dt<min + TG<min + TG>max + T . .
      =          +         +        +         +        +        +   408.00 408.00 0.00 0.00 0.00 0.00 0.00 0.00



  =    + .  + .  + dt<min + TG<min + TG>max + T . .
      =          +         +        +         +        +        +   408.00 408.00 0.00 0.00 0.00 0.00 0.00 0.00



  =    + .  + .  + dt<min + TG<min + TG>max + T . .
      =          +         +        +         +        +        +   408.00 408.00 0.00 0.00 0.00 0.00 0.00 0.00



  =    + .  + .  + dt<min + TG<min + TG>max + T . .
      =          +         +        +         +        +        +   408.00 408.00 0.00 0.00 0.00 0.00 0.00 0.00



  =    + .  + .  + dt<min + TG<min + TG>max + T . .
      =          +         +        +         +        +        +   408.00 408.00 0.00 0.00 0.00 0.00 0.00 0.00



E    

  =    + .  + .  + dt<min + TG<min + TG>max + T . .
      =          +         +        +         +        +        +   408.00 407.81 0.00 0.19 0.00 0.00 0.00 0.00



  =    + .  + .  + dt<min + TG<min + TG>max + T . .
      =          +         +        +         +        +        +   408.00 408.00 0.00 0.00 0.00 0.00 0.00 0.00



E    

  =    + .  + .  + dt<min + TG<min + TG>max + T . .
      =          +         +        +         +        +        +   408.00 407.81 0.00 0.19 0.00 0.00 0.00 0.00



E    

  =    + .  + .  + dt<min + TG<min + TG>max + T . .
      =          +         +        +         +        +        +   408.00 407.81 0.00 0.19 0.00 0.00 0.00 0.00



  =    + .  + .  + dt<min + TG<min + TG>max + T . .
      =          +         +        +         +        +        +   408.00 408.00 0.00 0.00 0.00 0.00 0.00 0.00



  =    + .  + .  + dt<min + TG<min + TG>max + T . .
      =          +         +        +         +        +        +   408.00 408.00 0.00 0.00 0.00 0.00 0.00 0.00



  =    + .  + .  + dt<min + TG<min + TG>max + T . .
      =          +         +        +         +        +        +   408.00 408.00 0.00 0.00 0.00 0.00 0.00 0.00



  =    + .  + .  + dt<min + TG<min + TG>max + T . .
      =          +         +        +         +        +        +   408.00 408.00 0.00 0.00 0.00 0.00 0.00 0.00



  =    + .  + .  + dt<min + TG<min + TG>max + T . .
      =          +         +        +         +        +        +   408.00 408.00 0.00 0.00 0.00 0.00 0.00 0.00



E    
E    
E    

  =    + .  + .  + dt<min + TG<min + TG>max + T . .
      =          +         +        +         +        +        +   408.00 357.05 0.00 50.95 0.00 0.00 0.00 0.00



  =    + .  + .  + dt<min + TG<min + TG>max + T . .
      =          +         +        +         +        +        +   408.00 408.00 0.00 0.00 0.00 0.00 0.00 0.00



  =    + .  + .  + dt<min + TG<min + TG>max + T . .
      =          +         +        +         +        +        +   408.00 408.00 0.00 0.00 0.00 0.00 0.00 0.00



  =    + .  + .  + dt<min + TG<min + TG>max + T . .
      =          +         +        +         +        +        +   408.00 408.00 0.00 0.00 0.00 0.00 0.00 0.00



  =    + .  + .  + dt<min + TG<min + TG>max + T . .
      =          +         +        +         +        +        +   408.00 408.00 0.00 0.00 0.00 0.00 0.00 0.00



  =    + .  + .  + dt<min + TG<min + TG>max + T . .
      =          +         +        +         +        +        +   408.00 408.00 0.00 0.00 0.00 0.00 0.00 0.00



  =    + .  + .  + dt<min + TG<min + TG>max + T . .
      =          +         +        +         +        +        +   408.00 408.00 0.00 0.00 0.00 0.00 0.00 0.00



  =    + .  + .  + dt<min + TG<min + TG>max + T . .
      =          +         +        +         +        +        +   408.00 408.00 0.00 0.00 0.00 0.00 0.00 0.00



  =    + .  + .  + dt<min + TG<min + TG>max + T . .
      =          +         +        +         +        +        +   408.00 408.00 0.00 0.00 0.00 0.00 0.00 0.00



  =    + .  + .  + dt<min + TG<min + TG>max + T . .
      =          +         +        +         +        +        +   408.00 408.00 0.00 0.00 0.00 0.00 0.00 0.00



  =    + .  + .  + dt<min + TG<min + TG>max + T . .
      =          +         +        +         +        +        +   408.00 408.00 0.00 0.00 0.00 0.00 0.00 0.00



  =    + .  + .  + dt<min + TG<min + TG>max + T . .
      =          +         +        +         +        +        +   408.00 408.00 0.00 0.00 0.00 0.00 0.00 0.00



  =    + .  + .  + dt<min + TG<min + TG>max + T . .
      =          +         +        +         +        +        +   408.00 408.00 0.00 0.00 0.00 0.00 0.00 0.00


